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In place of; giving, etc. — 9933 ;7°n1 DN

OVERVIEW

The X713 teaches us that we derive that all the m1aX pay from 2v°», through the 771
mw of Ao3 0%w° 7°n1 NN, *"w offers his explanation how (in particular) we derive
the payment of 2»n17 7Y is from 2vn. Our MdOIN offers a possible alternate
explanation and rejects it. N1BOIN also explains when it is necessary to have a
special T that 0om1 0>7Y pay from avn.
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In 920 we derive that for n2n2 there is a monetary compensation from the 2105 of

722 nR 7M™ [and you should chop off her hand] (which refers to the
consequence of causing nw12) and the P10 concludes T°1°% ©IN KY -

- ([x3,] > DY) PPY VINH KY 2N9T 19037 OI1¥1I §°9%

And we derive the ruling by nuia from 722317 2°7¥ where it is (also) written X

TPV OMN. The same phrase 1Y OWN R? is written both by Prm 27y and by nwia. We

compare them, that just as the Pnm 0°7Y pay money; the same applies to N2 that it is a
monetary compensation (and not a corporal punishment of 7193 nx Am¥P).”

MooIN cautions, however -
=Yy 1953 INH NINN NP RITI N0 NIY N9 NIIY 91919 PN)

We cannot assume that this 7°1°v (0110 X?) is a valid 2''13 (which would enable us
to derive that a7 7Y pay from 2w n, just as NYWIA pays 20Mn), since the X7l
does not state that we derive the application of 2v°» from the words nisp: nnrn

7393 the word 1y does not appear among the w"ix words in our X23.* This indicates that the
derivation of a v’ payment by 7217 279 is not derived from this w"a of Try.

mooIn (therefore) cites s""w explanation of 2v°» 211 by PrmIT 0°7V:
= Y932 ¥9) 112 22507 ¥/YWH2 DM ©XTW

And regarding the obligation of @y 2°7¥ to pay from 2vn, ''w explains that

"In the P09 it is written 71y 07N X2 (without a 1"').

2 It would now be possible to assume that we can derive T 279 from nwN2; just as NWIA pays 2wmn (as "W
explains), the same should apply to 117 0°7v, since there is this @"13 of 7°2°¥ 01N X2, MDOIN rejects this logic.

? Others amend this to read 71°n1.

* The foregoing interpretation of Moo is based on the explanation of y79 127 Moo, According to the X"aw"
however, it seems that based on the *790, it may have been possible to derive the 2v» 2111 by nw1a from 107 2°7¥
through the "1 of 0WN X7, 07272 WYL

> It would seem that TPV 0N RY is a limited 71, to teach us (only) that 795 NX 7N¥PY means money.
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by 77131 0°7Y it is written w13 WB1, and this is considered as if it would be written nnn wo1
wo1, allowing us to derive the obligation of 72T 227V to pay 2 »» from the w"a of nrn.

mooIn will now explain the need for any T17°% to inform us that P71 7Y pay 2v0nn:
= PV ON MY DY 1PN DN IINT 9017 TP

And it is necessary to say that even if the 7n111 079 testified regarding a an W

that damaged; where there is no obligation for the w1 %¥2 to pay® avmn (if their m7y would

have been upheld) -
= 20193 NIDYNT NPT 19977 NN INDAY 29N IND YYN IN

Or that the 7nan1r 07y testified that someone owes another a m», where the
ruling (77077 12) is that the M7 is only required to pay from the poorest quality,

nevertheless these 121 27Y would be required to pay their accused with 2w (that
is what the w"13 [of nnn] is teaching us) -
120901 129NTT RPOY DN TYRINT RIP 7598 XY 720501 NN 2590Y 189 ONT

For if the ruling that 2m7 27V pay from 2v°» would be limited only to cases
where the 72m7 07V desired to make others pay awsn»», no oo (of a v"13) would
be required to teach this to us, for it could be derived from the P05 of @n 9WK>

that they are obligated to pay 2w an; just as they wanted to obligate their (falsely)
accused to pay 2v»n.We must therefore conclude that the 7% from the w"1 by Pnmir 227y (as
*"w1 explains) comes to obligate them to pay 2v nn» even if their accused would not have to pay
200,

SUMMARY

The w" of v 010 K7 (by 1M1 2°731 NwI2) is limited to obligate money for nw2
(but not that 127 27 pay 2w nn). The T2 of woia woi teaches us that Pomr o7y
pay v nn even if their falsely accused victims would not need to pay 2w nn.

THINKING IT OVER

If the obligation is for the p>m to pay from his 2v°» (W 37 19w3),” then even if the
MY 0°7Y accused someone to pay 2vn, we would still need the "t to teach us
that if the 2vn of the 72m7 07y is better than the 2vn of the accused, they are
required to pay from their 2v"n!’

% See previous '0In on this X7 71"7 7Y (and the “Thinking it over’ there).

7 They testified (falsely) that someone’s animal ate his neighbor’s crops.

¥ See the XM later on 2,7

? From the 109 of ot 7wX2 we would think that they have to pay only the inferior 2u of the accused.
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Conversely if the obligation is to pay from the 2v°» of the p13,'’ we need the w"1 in
a case where the 217 n°12°7 1s like the 21°17 2v°%. On account of 2nT WX alone the
0>7Y just pay the P17 n>M2°1 (for that is the loss they intended to cause); however
on account of the w"13 they will have to pay the 2v°n of the P17 (for the p 17 is their
P!t

10 The view of Hxynw> "1 on 2,1.
' See 7"nx.
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